10.

u 214 ¢4fH(c )

AABCoail RIR(Cig2A A(5,1) B(-3,8)21a C(8,-1) 814 dl dof uRSog Mei.
Agssiel ABCDoatl RRIGIE A(-4,2), B(-3,6) 2ial C(3,-2) 2ia D(2,4) 81 dl
ABCDg| &g 2M€l.

¥ [GigA) (3,4) dal (K,7)a ssdl uiIvise] HEAUGIE (X,Y) 2ial 2X+2Y+1=0 &l )
Kol Baa =N,

[Gig P(-1,6) A A(-3,10) ial B(6,-8) o iscl wilvise A d2s8ll sl deNdi
GICIEGEENE

AHGIY AUdesielall sfAs RRAGIEIN (3,0), (4,5), (-1,4) 2al (-2,-1) &1y dl dd]
Ao M.

[GigA] p (a, bte), q (b, cta)idl r (¢, atb) AHui [GigA 8.

AABCodll cligiloll HeACig2Aloll a1H (1,1) (2,-3) 2iad (3,4) 8. AABCoil
[RIRAGig2Aall A1 AE.

3 (i (a,1) (1,-1)4a1 (11,4) 2324 [Gig2A 814 dl dofl [Bad MeN.

M(2,-5) 240l N(-2,9)&] Aol 2icR 2119 [Gig &1 dl dd X-242 Uq] [Gig MNel.
[Pisieloll Hezd Bislelg o Aol dssadinl [Bisieidi Aoyl s2 8. Yol
[RRIGIgA A(4,-6), B(3.-2) 219l C(5,2) &la ddl AABC a1 11 ulRena usiRi.
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